

International Journal of Mathematical Analysis
Vol. 12, 2018, no. 5, 235 - 243
HIKARI Ltd, www.m-hikari.com
<https://doi.org/10.12988/ijma.2018.8321>

A Class of Nonlinear Perturbed Difference Equations

Tahia Zerizer

Mathematics Department, College of Sciences
Jazan University, Jazan, Kingdom of Saudi Arabia

Copyright © 2018 Tahia Zerizer. This article is distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract

In this paper we study a class of nonlinear singularly perturbed difference equations with boundary value conditions. Provide that the singular perturbation parameter is small enough, we give sufficient conditions to guarantee the existence and uniqueness of the solution. An iterative process is proposed to determine the asymptotic representation of the solution.

Mathematics Subject Classification: 39A10

Keywords: Perturbed difference equations, Boundary value problem

1 Introduction

Many systems are described through difference equations containing small parameters, representing discrete processes or resulting from the discretization of continuous models. The presence of a small parameter naturally leads to suggesting perturbation methods. The method of asymptotic expansions has been widely used when solving singularly perturbed differential equations, but has not yet been developed for singularly perturbed difference equations which remains an open field of research. In previous papers [5, 6, 7, 8, 9, 10], we studied linear models, we noticed that there is no need to add *correction terms* in the asymptotic expansion, as for the singularly perturbed differential equations. In this work, we extend results obtained in [5, 6], to a class of nonlinear

difference equations containing a small parameter. We study for boundary value problems, the existence and uniqueness of the solution, and we present a recursive procedure to find asymptotic approximate solutions. The method relies on the use of Faa Di Bruno's formula [4] and the Implicit Function Theorem [2]. The paper is organized as follows. We study in Section 2, a BVP presenting a *left-end perturbation*, and in Section 3, the method is immediately extended to difference equations presenting a *right-end perturbation*.

2 Left End Perturbation

Let $\mathcal{U}_k : \bar{E}_0 \times \bar{E}_1 \times \cdots \times \bar{E}_r \longrightarrow \mathfrak{R}$, and $\mathcal{A}_k : \bar{E}_0 \times \bar{E}_1 \times \cdots \times \bar{E}_{r-1} \longrightarrow \mathfrak{R}$, be sequences of functions, n -differentiable in their arguments, where E_k are open intervals, $E_{k+1} \subset E_k$, and the bar denote the closure. We consider the BVP

$$\varepsilon \mathcal{U}_k(x_k, x_{k+1}, \dots, x_{k+r}) + \mathcal{A}_k(x_k, x_{k+1}, \dots, x_{k+r-1}) = 0, \quad (1)$$

$$0 \leq k \leq N - r,$$

$$x_0 = \alpha_0, \quad x_1 = \alpha_1, \quad \dots, \quad x_{r-2} = \alpha_{r-2}, \quad x_N = \beta, \quad (2)$$

where N is a fixed integer; α_i , $i = 0, \dots, r - 2$, β , are fixed real numbers, and $|\varepsilon| \ll 1$. Some linear cases of this model are studied in [1, 3, 5, 6]. We seek for the solution sequence $(x_k(\varepsilon))_{k=0, \dots, N}$, a uniform asymptotic development in ε ,

$$x_k = x_k^{(0)} + \varepsilon x_k^{(1)} + \varepsilon^2 x_k^{(2)} + \cdots + \varepsilon^n x_k^{(n)} + \mathcal{O}(\varepsilon^{n+1}). \quad (3)$$

For convenience, $D_1^{k_1} D_2^{k_2} \cdots D_n^{k_n} f$ will denote the partial derivative $\frac{\partial^k f(x_1, \dots, x_n)}{\partial x_1^{k_1} \cdots \partial x_n^{k_n}}$.

2.1 Reduced Problem

We obtain the *reduced problem*:

$$\mathcal{A}_k(x_k, x_{k+1}, \dots, x_{k+r-1}) = 0, \quad 0 \leq k \leq N - r, \quad (4)$$

$$x_0 = \alpha_0, \quad x_1 = \alpha_1, \quad \dots, \quad x_{r-2} = \alpha_{r-2},$$

$$x_N = \beta, \quad (5)$$

by canceling the small parameter ε in (1) – (2). The order of equation (1) reduces to $r - 1$, exhibiting a *boundary layer behavior* at the final value (5), i.e., the values x_0, \dots, x_{N-1} , can be computed without knowing the final condition; it is stated as *singular perturbation* in accordance with the singular perturbation theory of ODES. Thus, we will only have to solve recursively the IVP (4) since the boundary conditions are uncoupled. To guarantee that BVP (4)–(5) has a unique solution, we set the following hypothesis.

H1 Suppose $(\alpha_0, \alpha_1, \dots, \alpha_{r-2}) \in \overline{E}_0 \times \overline{E}_1 \times \dots \times \overline{E}_{r-2}$, and each of the functions $x \mapsto \mathcal{A}_k(x_k^{(0)}, x_{k+1}^{(0)}, \dots, x_{k+r-2}^{(0)}, x)$, where $x_k^{(0)} = \alpha_k, k = 0, \dots, r - 2$, has a range which contains the value 0, and

$$\forall x \in \overline{E}_{r-1}, \quad D_r \mathcal{A}_k(x_k^{(0)}, x_{k+1}^{(0)}, \dots, x_{k+r-2}^{(0)}, x) \neq 0.$$

Proposition 2.1 *If H1 holds, then problem (4)–(5) has a unique solution.*

2.2 Preliminaries

Observe that the BVP (1)–(2) may be reviewed as a system of equations depending on a parameter. Let $X = (x_0, x_1, \dots, x_N)$, we define the function

$$\begin{aligned} \mathcal{F} : (-1, 1) \times \mathfrak{R}^{N+1} &\longrightarrow \mathfrak{R}^{N+1}, \quad \mathcal{F} = (\mathcal{F}_0, \mathcal{F}_1, \dots, \mathcal{F}_N), \\ \mathcal{F}_k(\varepsilon, X) &= x_k - \alpha_k, \quad 0 \leq k \leq r - 2, \\ \mathcal{F}_{k+r-1}(\varepsilon, X) &= \varepsilon \mathcal{U}_k(x_k, \dots, x_{k+r}) + \mathcal{A}_k(x_k, \dots, x_{k+r-1}), \quad 0 \leq k \leq N - r, \\ \mathcal{F}_N(\varepsilon, X) &= x_N - \beta, \end{aligned}$$

then \mathcal{F} is of class C^n , just as are \mathcal{A}_k and \mathcal{U}_k , and (1) – (2) is equivalent to $\mathcal{F}(\varepsilon, x_0, x_1, \dots, x_N) = 0$. The Implicit Function Theorem ensures, under some assumptions, the existence of a function $g(\varepsilon) = (g_0(\varepsilon), g_1(\varepsilon), \dots, g_N(\varepsilon))$, having the same regularity as \mathcal{F} , such that $\mathcal{F}(\varepsilon, g(\varepsilon)) = 0$. Therefore,

$$\begin{aligned} \varepsilon \mathcal{U}_k(g_k(\varepsilon), \dots, g_{k+r}(\varepsilon)) + \mathcal{A}_k(g_k(\varepsilon), \dots, g_{k+r-1}(\varepsilon)) &= 0, \\ k &= 0, \dots, N - r, \\ g_0(\varepsilon) = \alpha_0, \quad g_1(\varepsilon) = \alpha_1, \quad \dots, g_{r-2}(\varepsilon) = \alpha_{r-2}, \quad g_N(\varepsilon) &= \beta. \end{aligned} \tag{6}$$

For $\varepsilon \simeq 0$, the Maclaurin expansion of $g_k(\varepsilon)$, which is of class C^n , is

$$g_k(\varepsilon) = g_k(0) + \varepsilon \frac{\text{dot}g_k(0)}{1!} + \varepsilon^2 \frac{\ddot{g}_k(0)}{2!} + \dots + \varepsilon^n \frac{g_k^{(n)}(0)}{n!} + \mathcal{O}(\varepsilon^{n+1}). \tag{7}$$

In order to determine the coefficients in (7), we use Faa di Bruno’s formula [4] to give explicit sequential differentiation of equations (6). We drop the arguments for $\mathcal{U}_k, \mathcal{A}_k$ and g_k to write concise formulas.

Lemma 2.2 *Assume that g_k, \mathcal{U}_k and \mathcal{A}_k satisfy (6), and that all the necessary derivatives are defined. Then we have for $n \geq 2$,*

$$\begin{aligned} \sum_{l=0}^{r-1} D_{1+l} \mathcal{A}_k g_{k+l}^{(n)} &= - \sum_0 \dots \sum_n \frac{n! D_1^{p_1^{(0)}} \dots D_r^{p_r^{(0)}} \mathcal{A}_k \prod_{i=1}^n (g_k^{(i)})^{q_{i1}^{(0)}} \dots (g_{k+r-1}^{(i)})^{q_{ir}^{(0)}}}{\prod_{i=1}^n (i!)^{k_i^{(0)}} \prod_{i=1}^n \prod_{j=1}^r q_{ij}^{(0)}!} \\ &- \sum_0 \dots \sum_{n-1} \frac{n! D_1^{p_1^{(1)}} \dots D_{r+1}^{p_{r+1}^{(1)}} \mathcal{U}_k \prod_{i=1}^{n-1} (g_k^{(i)})^{q_{i1}^{(1)}} \dots (g_{k+r}^{(i)})^{q_{ir+1}^{(1)}}}{\prod_{i=1}^{n-1} (i!)^{k_i^{(1)}} \prod_{i=1}^{n-1} \prod_{j=1}^{r+1} q_{ij}^{(1)}!}, \end{aligned} \tag{8}$$

where the coefficients $k_i^{(l)}$, $q_{ij}^{(l)}$ and $p_j^{(l)}$, $l = 0, 1$, are all nonnegative integer solutions of the Diophantine equations

$$\begin{aligned} \sum_0 &\rightarrow k_1^{(l)} + 2k_2^{(l)} + \dots + (n-l)k_{n-l}^{(l)} = n-l, \quad l = 0, 1, \\ \sum_i &\rightarrow q_{i1}^{(l)} + q_{i2}^{(l)} + \dots + q_{i,r+l}^{(l)} = k_i^{(l)}, \quad i = 1, \dots, n-l, \quad l = 0, 1, \\ p_j^{(l)} &= q_{1j}^{(l)} + q_{2j}^{(l)} + \dots + q_{nj}^{(l)}, \quad j = 1, \dots, r+l, \quad l = 0, 1, \\ k^{(l)} &= p_1^{(l)} + p_2^{(l)} + \dots + p_{r+l}^{(l)} = k_1^{(l)} + k_2^{(l)} + \dots + k_{n-l}^{(l)}, \quad l = 0, 1, \end{aligned} \tag{9}$$

in $\sum_0 \dots \sum_n$ we fix $k_n^{(0)} = 0$; the case $k_n^{(0)} = 1$ is omitted and corresponds to the left side of equation (8).

Proof 2.3 By induction, we prove that for $n \geq 1$, we have

$$\begin{aligned} \varepsilon \frac{d^n}{d\varepsilon^n} [\mathcal{U}_k(g_k(\varepsilon), \dots, g_{k+m}(\varepsilon))] + n \frac{d^{n-1}}{d\varepsilon^{n-1}} [\mathcal{U}_k(g_k(\varepsilon), \dots, g_{k+m}(\varepsilon))] \\ + \frac{d^n}{d\varepsilon^n} [\mathcal{A}_k(g_k(\varepsilon), \dots, g_{k+m-1}(\varepsilon))] = 0. \end{aligned} \tag{10}$$

Canceling the parameter ε in (10), we find

$$\frac{d^n}{d\varepsilon^n} [\mathcal{A}_k(g_k(0), \dots, g_{k+m-1}(0))] + n \frac{d^{n-1}}{d\varepsilon^{n-1}} [\mathcal{U}_k(g_k(0), \dots, g_{k+m}(0))] = 0. \tag{11}$$

Expanding Faa Di Bruno's Formula into the total derivatives $\frac{d^n \mathcal{A}_k}{d\varepsilon^n}$ and $\frac{d^{n-1} \mathcal{U}_k}{d\varepsilon^{n-1}}$ in (11), we obtain (8) by arranging the equation (9) so that on the left hand side, we have the terms corresponding to $k_n^{(0)} = 1$.

2.3 Main results

In this section, we establish the expansion (3), and we describe how to compute its coefficients. The coefficients of 0th-order approximation define the solution sequence of the reduced problem (4)–(5). Substituting

$$x_k^{(n)} = \frac{g_k^{(n)}(0)}{n!}, \quad k = 0, \dots, N, \tag{12}$$

into (8), we find the following. For 1st-order approximation, we have

$$\begin{aligned} \sum_{l=0}^{r-1} D_{1+l} \mathcal{A}_k(x_k^{(0)}, \dots, x_{k+r-1}^{(0)}) x_{k+l}^{(1)} &= -\mathcal{U}_k(x_k^{(0)}, \dots, x_{k+r}^{(0)}), \\ 0 \leq k \leq N-r, & \\ x_0^{(1)} = 0, \quad x_1^{(1)} = 0, \quad \dots, \quad x_{r-2}^{(1)} = 0, \quad x_N^{(1)} = 0. & \end{aligned} \tag{13}$$

The coefficients $x_0^{(1)}, x_1^{(1)}, \dots, x_{N-1}^{(1)}$, can be computed recursively with the initial values regardless of the final value $x_N^{(1)}$, but we need the 0th-order solution

which must be calculated from (4)–(5). To give shorter formulas, we remove the arguments for \mathcal{A}_k and \mathcal{U}_k , which are always $(x_k^{(0)}, \dots, x_{k+r-1}^{(0)})$ and $(x_k^{(0)}, \dots, x_{k+r}^{(0)})$, respectively. For the 2th-order development, we have

$$\begin{aligned} \sum_{l=0}^{r-1} D_{1+l} \mathcal{A}_k x_{k+l}^{(2)} &= -\frac{1}{2!} \sum_{l=0}^{r-1} D_{1+l}^2 \mathcal{A}_k \left(x_{k+l}^{(1)}\right)^2 - \sum_{l=0}^r D_{1+l} \mathcal{U}_k x_{k+l}^{(1)} \\ &\quad - \sum_{0 \leq l < m \leq r-1} D_{1+l} D_{1+m} \mathcal{A}_k x_{k+l}^{(1)} x_{k+m}^{(1)}, \quad 0 \leq k \leq N-r, \\ x_0^{(2)} &= 0, \quad x_1^{(2)} = 0, \quad \dots, \quad x_{r-2}^{(2)} = 0, \quad x_N^{(2)} = 0. \end{aligned} \tag{14}$$

For the n^{th} -order development, we have

$$\begin{aligned} \sum_{l=0}^{r-1} D_{1+l} \mathcal{A}_k x_{k+l}^{(n)} &= -\sum_0 \cdots \sum_n \frac{D_1^{p_1^{(0)}} \cdots D_r^{p_r^{(0)}} \mathcal{A}_k \prod_{i=1}^{n-1} (x_k^{(i)})^{q_{i1}^{(0)}} \cdots (x_{k+r-1}^{(i)})^{q_{ir}^{(0)}}}{\prod_{i=1}^{n-1} \prod_{j=1}^r q_{ij}^{(0)}!} \\ &\quad - \sum_0 \cdots \sum_{n-1} \frac{D_1^{p_1^{(1)}} \cdots D_{r+1}^{p_{r+1}^{(1)}} \mathcal{U}_k \prod_{i=1}^{n-1} (x_k^{(i)})^{q_{i1}^{(1)}} \cdots (x_{k+r}^{(i)})^{q_{ir+1}^{(1)}}}{\prod_{i=1}^{n-1} \prod_{j=1}^{r+1} q_{ij}^{(1)}!}, \end{aligned} \tag{15}$$

where in $\sum_0 \cdots \sum_n$ we have $k_n^{(0)} = 0$, the initial values are

$$x_0^{(n)} = 0, \quad x_1^{(n)} = 0, \quad \dots, \quad x_{r-2}^{(n)} = 0, \tag{16}$$

and the final value is

$$x_N^{(n)} = 0. \tag{17}$$

Above are the consecutive steps to compute approximate solutions. After completing the calculations, we substitute in (3), i.e., we obtain the desired n^{th} -order approximate solution to the BVP (1)–(2). This calculation process is validated in the following theorem.

Theorem 2.4 *If H1 holds, there exists $\epsilon > 0$, such that for all $|\epsilon| < \epsilon$, the boundary value problem (1)–(2) has a unique solution which satisfy (3); where $x_k^{(0)}, x_k^{(1)}, x_k^{(2)}, x_k^{(n)}$, are the solutions of (4)–(5), (13), (14), (15)–(16)–(17), respectively.*

Proof 2.5 *To give a detailed proof, we adapt the Implicit Function Theorem proof technique to our case. We consider the function $\widehat{\mathcal{F}}(\tilde{X}) = (\epsilon, \mathcal{F}(\tilde{X}))$, where $\epsilon \in (-1, 1)$, $\tilde{X} = (\epsilon, X)$, and let $\mathcal{D}\widehat{\mathcal{F}}$ denotes its jacobian matrix. Obviously from H1, $\det \mathcal{D}\widehat{\mathcal{F}}(\tilde{X}^{(0)}) = \prod_{i=0}^{N-r} \mathcal{D}_2 \mathcal{A}_i(x_i^{(0)}, x_{i+1}^{(0)}, \dots, x_{i+r-1}^{(0)}) \neq 0$, i.e., $L = [\mathcal{D}\widehat{\mathcal{F}}(\tilde{X}^{(0)})]^{-1}$ is well defined, and we can prove that $\widehat{\mathcal{F}}$ is locally invertible. Because $\mathcal{D}\widehat{\mathcal{F}}$ is continuous, we can choose $\rho > 0$ such that,*

$$\forall \tilde{X} \in B(\tilde{X}^{(0)}, \rho) : \|\mathcal{D}\widehat{\mathcal{F}}(\tilde{X}) - \mathcal{D}\widehat{\mathcal{F}}(\tilde{X}^{(0)})\| < \frac{1}{2\|L\|}. \tag{18}$$

We denote $\epsilon = \frac{\rho}{2\|L\|}$, the mapping $G_Y(\tilde{X}) = \tilde{X} - L(\hat{\mathcal{F}}(\tilde{X}) - Y)$ satisfies $\|\mathcal{D}G_Y\| < \frac{1}{2}$ if $|\epsilon| < \epsilon$ and Y in $B(\hat{\mathcal{F}}(\tilde{X}^{(0)}), \epsilon) = B(0, \epsilon)$, i.e., G_Y is a contraction that maps $B(\tilde{X}^{(0)}, \rho)$ to itself, then G_Y has a unique fixed point. There exists a unique \tilde{X} in $B(\tilde{X}^{(0)}, \rho)$, such that $Y = \hat{\mathcal{F}}(\tilde{X})$ for Y fixed in $B(0, \epsilon)$. Consider $g(\epsilon) = (g_0(\epsilon), \dots, g_N(\epsilon))$, if $|\epsilon| < \epsilon$, there exists a unique $(\epsilon, g(\epsilon))$ in $B(\tilde{X}^{(0)}, \rho)$, such that $(\epsilon, 0, \dots, 0) = \hat{\mathcal{F}}(\epsilon, g(\epsilon))$. Then for ϵ fixed, $|\epsilon| < \epsilon$, there exists a unique $g(\epsilon)$ such that $\mathcal{F}(\epsilon, g(\epsilon)) = 0$, i.e., the BVP (1)–(2) has a unique solution. Also, as $\hat{\mathcal{F}}$ and $\hat{\mathcal{F}}^{-1}$, the function g is $C^n(-\epsilon, \epsilon)$, we have $\dot{g}(\epsilon) = -\frac{\partial \mathcal{F}(\epsilon, g(\epsilon))}{\partial \epsilon} \left(\frac{\partial \mathcal{F}(\epsilon, g(\epsilon))}{\partial X} \right)^{-1}$ and we can compute the derivatives of \dot{g} by Lagrange's Inversion Formula or any other inversion formula. Because the asymptotic development is unique, it is not necessary to do further computations, Lemma 2.2 gives these derivatives.

The iterative problems given above are defined for any order provide \mathcal{U}_k and \mathcal{A}_k are smooth functions. In this case, the development (3) converges to the solution of (1)–(2). We deduce from Theorem 2.4, the following result.

Theorem 2.6 *If H1 holds, \mathcal{U}_k and \mathcal{A}_k are smooth, then there exists $\epsilon > 0$, for all $|\epsilon| < \epsilon$, the boundary value problem (1)–(2) has a unique solution $x_k(\epsilon) = \sum_{n=0}^{\infty} \epsilon^n x_k^{(n)}$, where $x_k^{(0)}, x_k^{(1)}, x_k^{(2)}, x_k^{(n)}$, are solutions of (4)–(5), (13), (14), (15)–(16)–(17), respectively.*

3 Right End Perturbation

We consider the perturbed difference equation

$$\mathcal{U}_k(x_{k+1}, \dots, x_{k+r}) + \epsilon \mathcal{A}_k(x_k, \dots, x_{k+r}) = 0, \quad 0 \leq k \leq N - r, \quad (19)$$

called *right-end perturbation*, and we associate the boundary conditions

$$x_0 = \alpha, \quad x_{N-r+2} = \beta_{r-2}, \quad \dots, \quad x_{N-1} = \beta_1, \quad x_N = \beta_0. \quad (20)$$

We follow the same procedure described in Section 2. For the *reduced problem*

$$x_0 = \alpha, \quad (21)$$

$$\begin{aligned} \mathcal{U}_k(x_{k+1}, x_{k+2}, \dots, x_{k+r}) &= 0, \quad 0 \leq k \leq N - r, \\ x_{N-r+2} &= \beta_{r-2}, \quad \dots, \quad x_{N-1} = \beta_1, \quad x_N = \beta_0, \end{aligned} \quad (22)$$

we can compute backward the values x_1, \dots, x_{N-r+1} , without using (21); the *boundary layer behavior* is located at the initial value.

H2 Suppose that $(\beta_{r-2}, \dots, \beta_0) \in \overline{E}_{N-r+2} \times \overline{E}_{N-1} \times \dots \times \overline{E}_{r-2}$, and each of the functions that each of the functions $x \mapsto \mathcal{U}_k(x, x_{k+2}^{(0)}, \dots, x_{k+r}^{(0)})$, has range containing zero, and $D_1 \mathcal{U}_k(x, x_{k+2}^{(0)}, \dots, x_{k+r}^{(0)}) \neq 0$ for all x in \overline{E}_{k+1} .

Proposition 3.1 *If H2 holds, then (21)–(22) has a unique solution.*

In the following theorem, we prove that, under some conditions, there exists an open neighborhood $V(0)$, and $g(\varepsilon) = (g_0(\varepsilon), \dots, g_N(\varepsilon)) \in C^n(V)$ such that

$$\begin{aligned} \varepsilon \mathcal{U}_k(g_{k+1}(\varepsilon), \dots, g_{k+r}(\varepsilon)) + \mathcal{A}_k(g_k(\varepsilon), \dots, g_{k+r}(\varepsilon)) &= 0, \quad k = 0, \dots, N-r \\ g_0(\varepsilon) = \alpha, \quad g_{N-r+2}(\varepsilon) = \beta_{r-2}, \quad \dots, \quad g_{N-1}(\varepsilon) = \beta_1, \quad g_N(\varepsilon) = \beta_0. \end{aligned} \tag{23}$$

The coefficients in the Maclaurin expansion (7) satisfy the formula given in the following Lemma (the arguments are dropped and can be deduced easily).

Lemma 3.2 *Assume that the functions g_k , \mathcal{U}_k and \mathcal{A}_k satisfy (23), and that all the necessary derivatives are defined. Then we have for $n \geq 2$,*

$$\begin{aligned} \sum_{l=0}^{r-1} D_{1+l} \mathcal{U}_k g_{k+l}^{(n)} &= - \sum_0 \dots \sum_n \frac{n! D_1^{p_1^{(0)}} \dots D_r^{p_r^{(0)}} \mathcal{U}_k \prod_{i=1}^n (g_{k+1}^{(i)})^{q_{i1}^{(0)}} \dots (g_{k+r}^{(i)})^{q_{ir}^{(0)}}}{\prod_{i=1}^n (i!)^{k_i^{(0)}} \prod_{i=1}^n \prod_{j=1}^r q_{ij}^{(0)}!} \\ &- \sum_0 \dots \sum_{n-1} \frac{(n)! D_1^{p_1^{(1)}} \dots D_{r+1}^{p_{r+1}^{(1)}} \mathcal{A}_k \prod_{i=1}^{n-1} (g_k^{(i)})^{q_{i1}^{(1)}} (g_{k+1}^{(i)})^{q_{i2}^{(1)}} \dots (g_{k+r}^{(i)})^{q_{ir}^{(1)}}}{\prod_{i=1}^{n-1} (i!)^{k_i^{(1)}} \prod_{i=1}^{n-1} \prod_{j=1}^{r+1} q_{ij}^{(1)}!}. \end{aligned} \tag{24}$$

where the coefficients in (24) are the solutions of the Diophantine (9); in $\sum_0 \dots \sum_n$ we fix $k_n^{(0)} = 0$, the case $k_n^{(0)} = 1$ corresponds to the left side of equation (24).

We can already indicate the main result of this section. The proofs are similar to that in Section 2. From (3), (12) and (24), we deduce the 1st-order development

$$\begin{aligned} \sum_{l=0}^{r-1} D_{1+l} \mathcal{U}_k(x_{k+1}^{(0)}, \dots, x_{k+r}^{(0)}) x_{k+l+1}^{(1)} &= -\mathcal{A}_k(x_k^{(0)}, \dots, x_{k+r}^{(0)}), \\ k &= 0, \dots, N-r, \\ x_0^{(1)} = 0, \quad x_{N-r+2}^{(1)} = 0, \quad \dots, \quad x_{N-1}^{(1)} = 0, \quad x_N^{(1)} = 0, \end{aligned} \tag{25}$$

we compute the values $x_0^{(1)}, x_1^{(1)}, \dots, x_{N-1}^{(1)}$ backward from the final values, and we need the 0th-order solution. For 2nd-order development, we have

$$\begin{aligned} \sum_{l=0}^{r-1} D_{1+l} \mathcal{U}_k x_{k+l+1}^{(2)} &= -\frac{1}{2!} \sum_{l=0}^{r-1} D_{1+l}^2 \mathcal{U}_k \left(x_{k+l+1}^{(1)}\right)^2 - \sum_{l=0}^r D_{1+l} \mathcal{A}_k x_{k+l}^{(1)} \\ &- \sum_{0 \leq l < m \leq r-1} D_{1+l} D_{1+m} \mathcal{U}_k x_{k+l+1}^{(1)} x_{k+m+1}^{(1)}, \quad k = 0, \dots, N-r, \\ x_0^{(2)} = 0, \quad x_{N-r+2}^{(2)} = 0, \quad \dots, \quad x_{N-1}^{(2)} = 0, \quad x_N^{(2)} = 0, \end{aligned} \tag{26}$$

For n -th order development, $n \geq 2$, we have

$$\begin{aligned} \sum_{l=0}^{r-1} D_{1+l} \mathcal{U}_k x_{k+l}^{(n)} &= - \sum_0 \cdots \sum_n \frac{D_1^{p_1^{(0)}} \cdots D_r^{p_r^{(0)}} \mathcal{U}_k \prod_{i=1}^n (x_{k+1}^{(i)})^{q_{i1}^{(0)}} \cdots (x_{k+r}^{(i)})^{q_{ir}^{(0)}}}{\prod_{i=1}^n \prod_{j=1}^r q_{ij}^{(0)}!} \\ &\quad - \sum_0 \cdots \sum_{n-1} \frac{D_1^{p_1^{(1)}} \cdots D_{r+1}^{p_{r+1}^{(1)}} \mathcal{A}_k \prod_{i=1}^{n-1} (x_k^{(i)})^{q_{i1}^{(1)}} \cdots (x_{k+r}^{(i)})^{q_{ir+1}^{(1)}}}{\prod_{i=1}^{n-1} \prod_{j=1}^{r+1} q_{ij}^{(1)}!}, \end{aligned} \tag{27}$$

in $\sum_0 \cdots \sum_n$ we fix $k_n^{(0)} = 0$. The iteration is done backward from the final values

$$x_{N-r+2}^{(n)} = 0, \quad \cdots, \quad x_{N-1}^{(n)} = 0, \quad x_N^{(n)} = 0, \tag{28}$$

while the initial value remains fixed,

$$x_0^{(n)} = 0. \tag{29}$$

Theorem 3.3 *If H2 holds, there exists $\epsilon > 0$, such that for all $|\epsilon| < \epsilon$, the boundary value problem (19)–(20) has a unique solution which satisfy 3; the coefficients $x_k^{(0)}, x_k^{(1)}, x_k^{(2)}, x_k^{(n)}$, are the solutions of (21)–(22), (25), (26), (27)–(28)–(29), respectively.*

Theorem 3.4 *If H2 holds, and $\mathcal{U}_k, \mathcal{A}_k$ are smooth functions, then there exists $\epsilon > 0$ such that for all $|\epsilon| < \epsilon$, the boundary value problem (19)–(20) has a unique solution which satisfy $x_k(\epsilon) = \sum_{n=0}^{\infty} \epsilon^n x_k^{(n)}$ where the coefficients $x_k^{(0)}, x_k^{(1)}, x_k^{(2)}, x_k^{(n)}$ are the solution of the problems (22)–(21), (25), (26), (27)–(28)–(29), respectively.*

3.1 Conclusion

Contrary to singularly perturbed differential equations, we can find uniform development for singularly perturbed difference equations, however both are similar in giving mode decoupling. The difficulty of solving a boundary problem was overcome by a straightforward iterative method giving asymptotic approximate solutions. Exactly, the same procedure can be applied to initial value problems with *left-end perturbation*, or to final value problems with *right-end perturbation*. For both kinds of perturbation, the method is easy to use and produces reliable results with few iterations.

References

[1] C. Comstock and G. C. Hsiao, Singular perturbations for difference equations, *The Rocky Mountain Journal of Mathematics*, **6** (1976), 561 - 568. <https://doi.org/10.1216/rmj-1976-6-4-561>

- [2] S. G. Krantz, H. R. Parks, *The Implicit Function Theorem, History, Theory, and Applications*, Birkhäuser, 2003.
- [3] D. S. Naidu and A. K. Rao, *Singular Perturbation Analysis of Discrete Control Systems*, Lecture Notes in Mathematics, Vol. 1154, Springer-Verlag, 1985. <https://doi.org/10.1007/bfb0074760>
- [4] R. L. Mishkov, Generalization of the Formula of Faa Di Bruno for a Composite Function with a Vector Argument, *International Journal of Mathematics and Mathematical Sciences*, **24** (2000), 481 - 491. <https://doi.org/10.1155/s0161171200002970>
- [5] T. Sari and T. Zerizer, Perturbations for Linear Difference Equations, *Journal of Mathematical Analysis and Applications*, **305** (2005), 43 - 52. <https://doi.org/10.1016/j.jmaa.2004.10.012>
- [6] T. Zerizer, Perturbation Method for Linear Difference Equations with Small Parameters, *Advances in Difference Equations*, **2006** (2006), 1 - 13. <https://doi.org/10.1155/ade/2006/19214>
- [7] T. Zerizer, Perturbation Method for a Class of Singularly Perturbed Systems, *Advances in Dynamical Systems and Applications*, **9** (2014), no. 2, 39 - 248.
- [8] T. Zerizer, Problems for a Linear Two-Time-Scale Discrete Model, *Advances in Dynamical Systems and Applications*, **10** (2015), no. 1, 85 - 96.
- [9] T. Zerizer, Boundary Value Problems for Linear Singularly Perturbed Discrete Systems, *Advances in Dynamical Systems and Applications*, **10** (2015), no. 2, 215 - 224.
- [10] T. Zerizer, Boundary Value Problem for a Three-Time-Scale Singularly Perturbed Discrete System, *Dynamics of Continuous, Discrete and Impulsive Systems (Series A)*, **23** (2016), 263 - 272.

Received: April 5, 2018; Published: April 30, 2018